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I cannot choose what to buy.
I was quite at a loss what to answer.

The prison officer told visitors when to leave.

A boy has no one to whom to leave a message.
= A boy has no one to leave a message to.
A boy has no one from whom to get an advice.

= A boy has no one to get an advice from.

Would you like something to drink?
I need a chair to sit on.

I need a friend to talk to.

They are to meet at five.

I am to do the work.

Nobody was to be seen.

He was never to return home.

If you are to pass the exam, you should study hard.
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1. In deciding what to do or how to do it, we often ask ourselves

what these watchers would think of us.

(114 10& 113)
2. They look like little kids waiting for their mother to tell them

what to eat and what to wear.

(141 09" 112)
3. According to an experiment, what influences subjects’ decisions
about which noise to listen to again is not the length of the noise,

but how they felt at the last moment.

(139 06E 112)

4. We certainly hope that we haven't done anything to offend you.

(033}

L

&= #35)
5. Imagine that it s Saturday and you are to meet your friends
at the mall at 12:00.

(134 108 113)
6. They can become self-protective and selfish because they feel

that they have to be to survive.
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He works on every vacation to cover the tuition fee.
He works on every vacation in order to cover the tuition fee.
He works on every vacation so as to cover the tuition fee.

He works on every vacation in order that he can cover the tuition fee.

He works on every vacation so that he can cover the tuition fee.

She studied hard /n order not to fail the exam.

She studied hard so as not to fail the exam.

She studied hard in order that she should not fail the exam.

She studied hard so that she should not fail the exam.
She studied hard /est(for fear) that she (should) fail the exam.

cf ) She studied hard not to fail the exam. (& Qt»rQl)

I woke up (only) to find the house burning.

He is rich enough to buy a car.

— He is so rich that he can buy a car.

This book is too difficult to read.

— This book is so difficult that I can't read it.
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1. The point of defining a term is to explain its meaning;
this obviously cannot be achieved if you need already
to understand the meaning of the term in order to understand
the definition.

(1214 038 13)
2. The technique used to make panes of glass was to spin
molten glass so as to create a round, mostly flat plate.

(1149 11€ 12)
3. In fact, she arranged her schedule to start at 10 a.m.
so that she could volunteer at a local school.

(10 06& 112)
4. He'd fail them, and study harder, only to fail each of them
repeatedly for eight years.

(143 09€ 13)
5. This lighting up lasts long enough to shift the brain into
a higher gear, encouraging further reading.

(045}
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6. Teenagers behavior changes when they realize others are
too busy with their own lives to be watching them.
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1. Each buyer knows that there are several sellers from which to
choose, and each seller is aware that his or her product is similar to
that offered by other sellers.

2. The main palace is an open, timber-framed construction with simple
tatami (rice-straw) matted rooms and elevated verandas from which to
contemplate the changing seasons.

3. Nineteenth-century civilization disintegrated as the result of an
entirely different set of causes: the measures which society adopted in
order not to be, in its turn, destroyed utterly by the action of the
self-regulating market.

4. With an estimated 55 million Africans who will lose their lives to
AIDS by 2020, the United States has both an opportunity and an
obligation to help defeat AIDS in order to bring stability to these
suffering countries.

5. The food served at festivals is, therefore, not only richer and more
splendid than what we usually eat, but also traditional, inherited from
the past and intended to be experienced as ancient custom; the
recipes and the lore associated with it are to be handed on by us for
use again in ritual celebrations.

“lore (Ed FHO tHeh 8 XA, (BlZh H&

6. No one has done a thing all spring to indicate to me that they've
lost any confidence in my ability to get going and help the club win
another pennant.

“pennant OF7 S E O Fo{x|E 257

7. Without predators to keep their populations under control, mule
deer will reproduce until there are so many deer that food becomes
scarce, and many of them starve.
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8. But to write a biography, for example, you will need at least a rough
scheme; you cannot plunge in blindly and start ticking off fact after
fact about your subject, lest you miss the forest for the trees and there

be no end to your labors.

9. I'm sure you have at one time or another gone to fetch something
from another room— only to find that when you get there you have

forgotten what it was you came for.

10. Our son, Simeon, was then three years old and too terrified at the
sound of the roaring of the lunging dinosaur robots to venture beyond

the threshold of your ever-so-realistic exhibit.
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